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Chapter 8
Number Bonds

Look and talk.



30 8-1  Putting Numbers Together — Part 1

Putting Numbers Together — Part 1
Lesson 1 1

Objective: Count to find how many objects there are altogether.

How many in all?

Exercise 1 • page 23

   and      make     and      make  

   and      make     and      make  



318-2  Putting Numbers Together — Part 2

Putting Numbers Together — Part 2
Lesson 2 2

Objective: Count and model two sets for each item to find how many altogether.

Look and talk.
How many altogether?



338-3  Parts Making a Whole

Parts Making a Whole
Lesson 3 3

Objective: Join two parts to make a whole.

Complete the number bonds.
The first one is done for you.

2



44 8-6  Number Bonds for 5

Objective: Find pairs of numbers that make 5.

Draw more to make 5.
Complete the number bonds.

Exercise 6 • page 33
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54 8-9  Number Bonds for 8

Objective: Find pairs of numbers that make 8.

Complete the number bonds.

Exercise 9 • page 39



80 9-4  Addition

Objective: Put together to add.

Complete the number sentences.

Exercise 4 • page 61

 +  = 

 +  = 

 +  = 



959-12  Practice

Practice
Lesson 12 12

Objective: Practice.

Complete the number sentences.
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3 + 2 =   

5 + 2 =   

6 + 2 =   

P



106 #.#  objective

Title
Lesson # #

106 10-3  Take Away to Subtract — Part 3

Take Away to Subtract — Part 3
Lesson 3 3

Objective: Write subtraction sentences.

Complete the number sentences.

– =

– =



There are 5 bats resting.
2 more bats are coming to join them.
How many bats are there now?

13111-4  Add to or Take Away

Add to or Take Away
Lesson 4 4

Objective: Know when to add and subtract in number stories.

Complete the number sentences.

There are 5 hot air balloons.
2 hot air balloons are flying away.
How many are left?

=   

=   



134 11-6  Practice

Practice
Lesson 6 6

Objective: Practice.

Complete the number sentences.

Add or subtract.
Complete the number sentences.

How many owls are there altogether?

8 – 6 =   10 – 7 =   

6 + 2 =   7 + 3 =   

P

=   




